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226 Box lowered down a frictionless ramp

A 5.00kg box is at rest at the top of a frictionless ramp
that is inclined at 15° from the horizontal. The length
of the ramp is 8.00m. A rope pulls on the crate with a
L8N force parallel to and up the ramp. (111F2023)

a. C”Oa) Determine the work done by gravity on the box from
the top to bottom of the ramp.

b) Determine the work done by the rope on the box from the top to bottom of the ramp.
¢) Determine the speed of the box at the bottom of the ramp.
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Work done by vandble fores wn curved  pats
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